
This is a reminder of the issue: 
 

 

 
 

 
 

 

One possible solution has occurred. And unfortunately, since it was not a 
technique not used in my coding before, it has taken a while to realise this.  
Constructor overloading. 
I can then separate out the two methods into separate constructors. 
 
Here is how I managed to perform the operation, it required lots of small 
changes. 



But fortunately it functioned, which means I can perform this challenge 
knowing that end user will get some results in event that available memory 
elapses… 

 
 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 



Now, I get correct outputs at end execution: 
 
***********SOLUTIONS************ 

2,1,6,2,1,1    Subset: 1  Alternating RIGHT => DOWN => RIGHT....... 

5,1,3,2,1,1    Subset: 2  Alternating RIGHT => DOWN => RIGHT....... 

1,1,7,2,1,1    Subset: 3  Alternating RIGHT => DOWN => RIGHT....... 

3,1,5,2,1,1    Subset: 4  Alternating RIGHT => DOWN => RIGHT....... 

4,1,4,2,1,1    Subset: 5  Alternating RIGHT => DOWN => RIGHT....... 

 

 

I also get the following identical outcomes during its main execution: 

 

2,1,6,2,1,1   (Alternating RIGHT => DOWN => RIGHT.......)    Subset: 1  at cycle number: 5005000 

5,1,3,2,1,1   (Alternating RIGHT => DOWN => RIGHT.......)    Subset: 2  at cycle number: 5005000 

1,1,7,2,1,1   (Alternating RIGHT => DOWN => RIGHT.......)    Subset: 3  at cycle number: 5005000 

3,1,5,2,1,1   (Alternating RIGHT => DOWN => RIGHT.......)    Subset: 4  at cycle number: 5005000 

4,1,4,2,1,1   (Alternating RIGHT => DOWN => RIGHT.......)    Subset: 5  at cycle number: 5005000 
 
 


